All Openings Schedule

Element ID D05 D07
Quantity 1 2
W x H Size 2,307%x725 2,566x725
Head Height 875 875
Sill Height 150 150
, 2,307 )
2,566
2D Symbol N o
I I

View from Side
Opposite to Opening
Side ’ 2 307 \ " 2,566 "

O °l° LO) oo

AN AL

N~ N

Frame Outside

Hard Wood Solid Core

Hard Wood Solid Core

Glass

(No Glazing)

(No Glazing)

Leaf Outside

Hard Wood Solid Core

Hard Wood Solid Core

Sash Outside

Door and Window Notes

Dimensions shown on DWG indicate
effective openings of frame

All frame depth are 100mm
All door panel thicknesses are 35mm
All window manel thickness are 25mm

All glazing should be of 6mm unless
specified

External units must comply the following

weather conditions:-
Wind pressure: 200 kg/sqm
Water tightness: 25 kg/sgm

All frame edges shall be trimmed 3mm

All wooden components should be wood
stained finish

All external frames / wall joints must be
sealed with silicon sealant and the wedges
trimmed with 12 X 12mm hardwood
beading fixed to frames by brass nails

All hardware should be provided for the
performance of all functions of the units

Hinges shall confirm to

1. Door size more than 700X900mm
WD: 125mm X 2 sets
SD: 150mm X 3 sets

2. Door size less than 700 X 1900mm
WD: 100mm X 2 sets
SD: 125mm X 2 sets

Locks shall be cylinderical with master key
sets

Door knobs shall be 1000mm above FFL

Door Window Schedule
110, 2:1



3,200

3,200

A T ©®
A==+ o
. VAR =NIE
Hall stair as per stair detail N—} —
2Nos. 75mm X 25mm RHS Stringer H PN AN !
bolted to RC slab and capping beam a -I _: T T { T i ©
Rl N\ 3
CESL Y o
Hall stair as per stair detail ! - ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ~ <
2Nos. 75mm X 150mm X 25mm Y
RHS Stringer bolted to RC slab and ‘ ‘ ‘ e ‘ 1 |
capping beam
|
AN RN .
= \ "y ™~
ARt e e s O
’ [ |
Under Hall Store access door D2 as % ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ =
in Door and Window schedule ’ ‘ ‘ 8
O x N
\ N
e e —®
75mm X 150mm 2.5mm — :— o
Thick RHS @400 c/c R | T | ] ‘ '02.
Under Hall Store access door D1 as—>/ ‘ -
in Door and Window schedule L % Il ‘ ‘ ‘ ‘ ‘ ‘ [ ‘ ‘ ‘
- [ b — [N B (:)
150mm Thick solid block masonry wall with } 1 1 T ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘
150mm X 150mm RC capping beam N Stage
e b . \ ©
- o
Under Hall Store access door D2 asﬁ/ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ o
in Door and Window schedule y ‘ ‘ Sf
, | A
L EEEEEEEN | g
4@ I % L L L { [ % [
. N T | E
I 0, A ¢ P —®
=TTy s
7
AR RAREREEE 3
> | S
—n Ll |
=3 )
T e —©
N N~
B R RN RN .
a N
AR NN RR AR D g
1 | ol
T
[ AW o
| ] Sy 8
Hall stair as per stair detail - f hal -~
2Nos. 75mm X 25mm RHS Stringer ‘ ‘ \ ! AN | |
bolted to RC slab and capping beam | Ay B Tt 7 N ( : )

-

45mm X 300mm Hardwood flooring
with anti-slippery grooves bolted to
RHS step fixer

75mm X 150mm x 2.5mm RHS
Stringer bolted to RC slab and capping
beam with 6mm end plates &4nos
M12 bolts

250

Stage F.F.L
AVA

150

900

Ground F.F.L

s

Stage Detail
1100



&

25 x 100mm hardwood flooring with
carpet on top

Handrail 50 mm @ SS hairline hollow
pipe

(':l L
o 1 8
D
© <
Storage door
- ~ I I I I I I I I [ [ [ [ [ [ [ [ [ [
T "]
‘E E
(@) [ [ [ @ | [ _ 1 @@ [ [ _ [ & [ [ [ @ [ [ @) [
4 S a b a N 4 & 4 S
S LA o [N " A IS " 4 oo ¢ s ‘ = = :
18mm thick plywood nailed to the
100 x 100 x 6mm thick SS plate fixed timber frame
to timber frame
2" Dia wheel attached to the‘ timbelr 50 x 150mm timber frame
frame to manufacture's detail
- = —
_— ~
P ~

7/
/ \ -,
/ ~ _ ///
25mm Marine grade hardwood flooring: / - ~ —_— - P
/ .
\ Stage F.F.L
! \ i v
— — T— —— o
75mm X 150mm X 2.5mm RHS @400 c/c { ) / 3
y —
a9 T 4 g /s
Sa s PR N A . b 4]
150mm X 150mm RC capping beant N 4T N ., “
(4T10, R6@125 clc “ = o
‘ ‘ r ‘ o
=]
[+
150mm Thick solid block masonry walt
with 25mm plastering on both sides
Store access door— —
Ground F.F.L
Av4

Stage Detail
1100



Ne—

050y | 000C K 06.°L ovL'y 000C 00.°¢

T T T

3,200

|

3,200

1100

Stage Drawer Detail

Se—

|
7 Z8LL GeeL 0oL mmJ,N 00l | L0l 00l 99¢C 1G€ 0S6°C 11GC 7
VLJE,LH_V\ M_LIL_L AN T —

ro BN oo Ne T

[ __ N 7 (' I (' [ [ 7__ [ [ (' [

[ __ AN BN 1 [ [ Nl [ [ 1 [

[ _ N 1 N 1 [ _ (' _ [ 1 [

_nnnu;unnn_ Fo=tt——d4|N|Ez=dE==4 _nnnm_.nnu_ F-o-dbEz-=4

_ it | 1t Rt it A | it
1+ [ _ NPT INIE [l [ [ i [ [ [l _ LIy
P 2 [ _ N [l L [l [ [ [l [ [ [l I 15 24

TS I |_ I _u ._n_. N |:| I I ﬁ_u I I |__| I sslww
AWA‘\\\‘iﬁﬂmihﬂhm{/ﬁJMiHMvaWWUJTMUM\J\ﬁmhjﬂ||#‘vaUJTUUP e

Iy HNEY 8l U e 1 [ Ly [ L ] [

Lg 1IN :w__ RINIEE- | g 7__ [ g [

AR N T Y L

| |
Eczgrpz-d|NlEc=w==d|N|Ez=z3E==4d F-=-3Fg==1 E--gpz=-=4
_ [ _ _4 1 N (' [ [ 1 [ _ 1 _
o NN 1 Y (' _ [ I o 1

I o N R I I I I I I I I

_ _ N 1 NI (' [ _ 1 _ _ 1 _

- - 2 - 1 _llilLl_rllL e I I | | I N [ - | \_IllLLlllL

JE— — 4+ - |—py- — - —— 9y — - — RN —_—
N Y , I\ , I\ ,
/N \'\/ / N\ / N\ / \
7/ N s AN 7/ N 7/ N / N
N o ~ \\ // \\ // \\ //
| - | | - | | -

support
Under stage storage drawers:
frame

50 x 150mm thick timber frame for
18mm thick plywood nailed to the timber

7



500

-+

-

300

4712

R6@150 C/C

4712

100mm thk rc ground slab on fill
at ground floor and basement

T10-200 c/c bw

DPM

NOTE:

ElEIEEIEE

All cover blocks shall be casted using grade C25/30 concrete with 5-

10mm aggregates

For slab, rebar spacer chairs spacing shall be minimum 1m spacing

or 1no. per 1 sgm

Typical Ground Slab Construction Detail

1:20

4,050

1,790 L 2,000 L
T T

4,140 !
W

2,000 !

|

3,700

—al

L 3,200 L 3,200 L
W W W
| | |
| | |
| | |
| | |
B R __.-_!
| | ‘
| WF WF |
| | |
| | |
WF
| | |
| | |
ffffffff e
| | !
‘ }WF '
| f
++++++++ .
WF | T
| | |
777777777 \777774%7777.
| | |
| |
\ \ |
| | |
| wF |
‘ \ I
| |
| |
| | |
‘F | |
++++++++ s
| I T
| | |
[ [ |
‘ }WF ‘
| f |
VW‘F WF ‘\ '

_’k__‘"_,__ —

Foundation Plan
1100



~___ Ramp of 3mm Gl _
checkered plates
fixed to 50x100x3

RHS with railings as
Ramp Top Landing shown
3mm thick GI 200mm high 50mm dia Gl pipe 3mm Gl checkered plates
checkered plate raile welded to 26mm dia Gl posts ﬂ@: t9|A50x100><3;1 RHS
fixed to Gl frames welded to ramp with railings as shown
% 7,800 %
; : “ 4 : ;
-+ — — + Ramp Parts Ramp Half Landing
l - - = l fixed with 3mm Gl checkered
=== - = MI2 bolts as plates fixed .t'o 50x100x3
Ramp = = per ramp RHS with railings as
3 Landing == _ RAMION lO2E 3 connection shown
=== o detail
el e _f Ramp B
e — — Landing 3 ‘ Ramp of 3mm Gl
== el P - checkered plates fixed
Il SR to 50x100x3 RHS
- = - _ _ _ with railings as shown
RAMP 5° SLOPE el RAMP 5° SLOPE T T = -
= - — -
== = T - Ramp start of 3mm Gl
= T | checkered plates fixed
s — s to 50x100x3 RHS
¢ 1 ii ;i 1 ¢
. 2Nos. of Ramp Landing legs to with
rubber shoe to fixed to ramp landing with
p 9
1:50 M12 bolts as per detail
) 50x50x6mm thick L angle welded to SHS
Ramp landing + By éc’% 5, ii 1 . ramp landing legs
and leg fixing

detail ‘ﬁ‘ﬁ' T\ 200mm high 50mm dia Gl 2Nos. bracing members 50x50x3mm thick
- pipe raile welded to 26mm fixed to L angle using M12 bolts

x100x3mm thick : - "‘ : o dia Gl posts welded to ramp
Gl RHS ramp =
landing frame — .
: T 3mm stee Ramp Isometric
IX50x3mm thick T < 1:50
v b checker .
Gl SHS ramp T )
. . i plate fixed
landing legs A
L Ramp connection oramp
Rithharlon | Aatail frames
PROPOSED 02 STOREY BUILDING AT
. . 50x100x3m —— .
Ramp Side Elevation m G RHS (Project Name)
1:50 ramp frame
removab\g 50x100x3 G RHS 50x§0><3 Gl SHS ramp S(t)s52xé2$ _ @
ramp landing . ramp frames landing \egs welded to m thick G|
leg fixing detail ramp landing frames section
t 7800 t welded to o
bk 3 RHS ram
v 5 ; ! ; ! ; ; i : ; famp M12 bolt Unknown
et g H T & 50x50:3mm GI RHS P bolt —————
T Ramp landing legs 50x100x3n
GI RHS Rar
4 5 g 1 . . o Y 7 Frames
Elevation view -
angle [— 100x50x6mn
F i M12 bolt to thick Gl an
o u 1 © welded to
T I 1 RHS page e
50x100x3m ———> M st N Staage Ramp Detail
L m Gl RHS -oustic
wvasher Nut
- mllCm; g -+ ramp frame
S 4/28/2021
. 50x50x3mm Gl
3mm thick steel ——> T SOXSOGX?LT:’;:S: RHS Ramp . . Architect:  (architect)
1 checkered plate i i ! welded o RHS | landing legs Ramp Connection Detail o (ergnem)
welded to 2 5 ramp frame el Nut 1:5 rawin By. Y
100x50x3mm RHS ¢ 12 te 1 t K + " t ‘r t v +
L Acoustic
Ramp washer PI . E POC H
connection an view
T: +960 333 3528 E: info@epoch.associates
W: wwww.epoch.associates, A: M. Ahigasdhoshuge,
. . . . . Fareedhee Magu Male' Republic of Maldives
Ramp Framing Detail Ramp Leg fixing Detail
1:50 1:5 A.2.01

_ J




	New Stage Details 29.04.2021
	New Stage Details 15.04.2021
	Sh Maaugoodhoo Multipurpose Hall
	New Stage Details 15.04.2021.pdf
	Sh Maaugoodhoo Multipurpose Hall
	Sh Maaugoodhoo Multipurpose Hall.pdf
	2021-02-23 Sh Maaugoodhoo Multipurpose Hall
	Multipurpose Hall, Sh Maaugoodhoo
	A.04 Elevations
	C.01 Architectural details
	C.01.4 Stage Detail
	C.01.5 Stage Detail
	C.01.6 Stage Drawer Detail








	New Stage Details 29.04.2021.pdf
	New Stage Details 15.04.2021
	New Stage Details 15.04.2021.pdf
	Sh Maaugoodhoo Multipurpose Hall
	Sh Maaugoodhoo Multipurpose Hall.pdf
	2021-02-23 Sh Maaugoodhoo Multipurpose Hall
	Multipurpose Hall, Sh Maaugoodhoo
	A.04 Elevations
	B.01 Structure
	B.01.5 Foundation Plan










	Stage ramp
	Stage ramp
	(Project Name)
	A Architectural Drawings
	A.2 Floor Plans
	A.2.01 Staage Ramp Detail








